
0118RC

GB

D

F

I

E

PL

Installation Guide

Einbauanleitung

Guide d’installation

Guida all’installazione

Guía de instalación

Instrukcja montażu

0118RC

DA0118-0240RCH (with fixing holes)

DA0118-0240RC (no fixing holes)

DS0118-CASSRC (Carriage with stainless steel balls)

DP0118-CASSRC (Carriage with polymer balls)

DP0118-ECRC (Damper)

DA0118-STOPRC (End stop)

DS0118-SMBRKTRC (Side mount door bracket) 

DS0118-BRKTRC (Recycling bracket) 

2x
n 4.5 THRU
w n 9.4 X 90.0°
(END STOP, TRANSIT ONLY)

50

18

20x
Ø5.5 THRU
    Ø10.4 X 90.0°  

4x
Ø5.5 THRU
END STOP/
DAMPER FIXING

7.5

60 120 PITCH 7.5

10
10

2400

50
18

20
 (S

LE
E

V
E

)

20

50

110.0

22
.0

55.0
M5x0.8



0118RC

0118RC

Sliding door installation

1

Ø5.5mm
& 90° CSK

2

Wipe the rail clean of debris. 

3 4A

Align carriage sleeve to rail, carefully side carriage into rail. 

4B

When the carriage is fully in the rail remove the transport sleeve. The 
balls will not be retained if removed too early.        

4C

Ø5.5mm THRU 

Minimum M5x10 CSK 



0118RC

0118RC

Sliding door installation

5A

Insert the damper(s) into each end of the rail. If dampening is not 
needed, end stops may be used instead.

5B

5C 6A

Attach the bottom bracket to the top of the door using 3x bolts, M6 are 
recommended. Then attach the rest of the door bracket to this bracket 
using the bolts provided. 

6B

The bolts provided should always extend through the bottom bracket 
into the door. Depending on the door, a clearance hole may need to 
be drilled to achieve this.

7

Attach the bracket to the carriage using the central fixing, using one of 
the screws provided. This is used as a pivot point.

Minimum M5x16 Cap Head

Bottom bracket



0118RC

0118RC

Sliding door installation

8

Attach the remaining four screws to the bracket. Leaving them
“finger tight”.

9

The bracket will pivot slightly to aid height adjustment.

10

Adjust the bolts up and down to level the door. The nuts may need to be 
loosened to achieve this.

11

13

Optional – customer may add a guide to the bottom of the door.

A 

B 

12

Important – tighten all nuts, bolts and screws.

A = B



0118RC

0118RC

End stop installation

1B

2A 2B

1A

Optional – an extra central hole may be used to hold the end stop 
in place during installation (not suitable for prolonged use). Screw 
provided for this. 

M4 CSK provided 

Minimum M5x20 CSK



0118RC

GB

D

F

I

E

PL

If you require further assistance, please contact Accuride.
Accuride reserve the right to alter specifications without notice.

Wenn Sie weitere Unterstützung benötigen, wenden Sie sich bitte an 
Accuride. Technische Änderungen vorbehalten.

Pour de plus amples renseignements, veuillez contacter.
Accuride se réserve le droit de modifier les spécifications sans préavis.

Se hai bisogno di ulteriore assistenza, contatta pure Accuride.
Accuride si riserva il diritto di apportare modifiche senza ulteriore 
comunicazione.

Si necesita más ayuda, por favor, contacte con Accuride.
Accuride se reserva el derecho de alterar las especificaciones sin aviso 
previo.

W razie dodatkowych pytań, skontaktuj się z Accuride.
Accuride zastrzega sobie prawo do wprowadzania zmian technicznych 
bez wcześniejszej Informacji.

Accuride International Ltd.

Liliput Road, Brackmills Industrial Estate, Northampton
NN4 7AS, United Kingdom.

Tel: +44 (0) 1604 761111

E-mail: sales@accuride-europe.com

www.accuride-europe.com

Accuride International GmbH

Werner-von-Siemens-Str. 16-18,
65582 Diez/Lahn, Germany

Tel:+ 49 (0) 6432 608-0


